(1) + (1)1 8] 22 (n e AAF)

n=2k: (-1)"+ (-1)"*+1
= (=1)%* 4 (-1)%+!

n=2k —I 0 —1)” o (_1)n+1
= (_1)2k—1 + (_1)2k




D) 72a7 x® @ 724" x8 ® 72a"2x!2

(2ax?)3 x (—=3a®x)? = 8a3x5 x 9a’x? = 724" x8
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_L

2)
2 —x=x(x+
@ x

@ x(x-2)

X2 -4

(x=2)(x+2)

©)

0

2
X 2xy+y

@(X+y)2

=X-Yy
® x+y=x




ohe BABAS AN A F e 2L

ru

@®
@) (a+b)2(a-b)> = a* - 22 + b*
B (—x+3)% = x3 - 9x2 4 27x — 27
@
®

(
(a-b)(a®+ab-b?) =a*-b*
(

p=D(P*+ (P +1)=p* -1

B

(x—y-1)2=x>+y>+1-2xy—2x+2y
(=x+3)3 = —x + 9x% — 27x + 27
(a—b)(a® +ab+b*) =a*-b?
(P=Dp+ 1>+ 1(p* +1) =p* -1




5. &Z+b*+c2=9 ab+bc+ca=9, a+b+co Ze?

® -3vV2 @ -2v3 ®)+3v3
@ +3v2 ® V6

B

(a+b+c)* =a*+b*>+c* +2(ab + bc + ca)
=94+ 18 =27

“a+b+c=+3V3




6. a bE=AFOL, ax® +bx2+10] 2 —x-12 UFo]Eojd o, p
o) he?

ANS o) FH O F U AR Aol Fotof stz
ax® +bx? +1
=(x?-x-1)(ax-1)
=a*-(1+a)x*+(1-a)x+1
FH Ol A5 Hl w5
~(1+a)=bl-a=0
a=1,b=-2




f
HAE A% a, b2t D W, a+ b O] #27

®-s @-2 O®-16 @4 ©F

(x) =x* -2 +5x-62 x-2, x- 12 YFAES

wh <]




SA 32+ 2x+1=a(x-1)%2+b(x—1) +c o] xof #ZF3F
o, 4% b ©] 2

® 3 @-4 ®2 @)s ® 6

B

32 +2x+1=a(x-1)2+b(x-1)+c
= (x—l){a(x—1)+b}+c

17 3 2 1
3 5
1] 3 5 6 <« ¢
3
3|i<—c
T
a

x=1aHUsIHc=6

3+ 2x+1=a(x-1)2+b(x-1)+6
—3x2+2x-5=a(x—1)2+b(x-1)
- (x-1)(Bx+5)=a(x-1)2+b(x-1)
L oPAS x-1 2 L
3x+5=a(x-1)+b=ax—-a+b




9.

(a+b)(a® —ab + b*)(a® - b3) O] A2 &2 AL2?

O a3 +p? @ ab + b (@)aﬁ—bﬁ
@ a° 4+ b° ® -0
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10. P -x+1=0% ], ° + — o] g7
X

-2 @-1 @0 @n ® 2

B

¥ -x+1=0, FHo x+ 1-& F5IH,
(x+1D(x2-x+1)=0
B4+1=0,x=-194 x5 =2 xx* = —x?

1 1
5 _ 2
x+ﬁ__<x +§) ...... @)
¥ -x+1=08 x& o] Atk
1
x+-—-=1
X

1 1\?
x2+—2=<x—|——> =2 ==l
X X
1
5 —
tE=

@ of tdstd, x 1




11. 34 (2k+1)y— (k+3)x+10 =0 ©] k9] gkoll A gle] & 44
St & Sh= A< x yoll tisto] x +y o] 242?

® 5 @5 ® 7 @ 8 ® 9

B )
(E )= (y-3x+10) + (2y—x) k=0
S 2y=x, y—3x=-10
Lx=4,y=2
LX+y=6




12.

oA (8 + ¥ - 2x - 1)5 & AT A0] ap + arx + axx® + asx® +

[e]
apx** +apsx® D W, ag—ay +az—az+- - +aig —a15 9 G

H

0  @n ® 2 @ 3 ® 5

(23 +x2-2x-1)°
:ao+a1x—|—a2x2+a3x3+---+a14xl4+a15x15
FHol x = 18 Y5
(-141+2-1P¥=ay-a1+ax—as+-+aa—as =1




13. 1985 ARH 1995 71| 5@ 7+A 0 2 TARRE f-2uete] F7hel+
H& P+ thatt 22 A o= Uehd 5 9l
a 85 | 90 [ 95

AFH& (%) | 209 | 155 | 10.8
Q1-(1000 ) | 8521 | 6661 | 4851

P = 0.35¢2 — 5.75¢t + 20.9
ol W, t = 02 1985 {2 LEFHTE o] A& ¢ = 0°] 1990 -2 LHE}
W= Hegsta?

® P =0.352-5.75t+ 20.9
@P = 0.35(r 4 1)2 = 5.75(¢ 4 1) + 20.9

® P=0.35(t-1)>-5.75(t - 1) +20.9
@ P=0.35(t +2)% - 5.75(t + 2) + 20.9

® P=0.35(t-2)2-5.75(t - 2) +20.9

S5 \
P1(f) = 0.3512 — 5.75¢ + 20.9 2 of,

r=0-19854,r=1—- 1990, r =2 — 1995

Py(1) = 0.35(1 + 1)% = 5.75(r + 1) + 20.9°] 9,

P3(0) = P1(1) ] B2 Py(r) ol A

t=0- 19901 g2 & 4= Qlch.




14.

xoll e A f(x) & (x-a)(x +b), (x+b)(x—c), (x—c)(x—a)
2 e Uo7t 42 x4+ 2, —x+4, 02 W, A a,b,c 9

o7

@)s @8 @12 @ @-12

® 16

oL
=]

[e]
=

f(x)=(x-a)(x+b)P(x) +x+2---O
=(x+b)(x-0c)0(x)—x+4---@
=(x-c)(x—a)R(x)---®

L] 2) G elo] o

1) @ oA fla) =a+2, @ A

fla)=0
S>a=-2

i) @ oA f(-b) = -b+2, @ A
f(-b)=b+4
>b=-1

iii) @ A f(c) = —c +4, @ A
fle)=0
>c=4

S.abc =8




15.

xofl Tt oA f(x) B x? - 42 e UHAE 20 + 10|, g(x) &
x?=5x+6 08 e U 2= x—40lch. o] of, (x+2)f(x)+3g(x+1)

2 x- 2% e YA S Faha?

© 7 @9 ® 13 (@)17 ® 23
LB

F6) = (2 = )p(x) + 23+ 19141 £(2) =

g(x) = (x2 - 5x + 6)g(x) + x — 4914 g(3 )

h(x) = (x+2)f(x) + 3g(x + 1) ol Fom,

h(x) S x-28 U ez

h(2) = 4f(2) +3g(3) =17




